
91 

92 

93 

94 

96 

(3) 

97. 

(3) 

95. 'fajafra' i yA: 

(3) favaqEY 

(1A 

(1) 

(1) 

(2) gaIâ 

(3) 

(2) 

(3) fdHI{ 1 3 3TTH HHG 

afd 

4T1- IV 

I91-| : f 

(2) 

(2) faGà fG-i t fiai I 

(4) 

(3) fHTÌ 

(2) 

ya yryI 

fava À Haf fr44 

(3) feri 

(2) faLGI E31 HH 

(4) aÉr 

66 

(4) � 



98 

q9 

(1) 

1) 

(1) 

(3) 

(1 

102. 'feaHIAAR' I fY farzt: 

f1 

(1) 

(2) faf 

103. Vi faH f Z32? 

(1) 

104. fHE 4À Â É? 
(1) 

(1) ATit HTA 

(2) 

(2) 

O2) 

., (2) fza+31qHTA 3T fe+ 344411 

3) fafu gra (hÍ4 haz) 

((4) 

(3) 

() 

(3) 

fas 

(3) 4 

3)tfrzrfa 

67 

(4) 

(4) 

(4) I4 
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(b) 

(d) R (West's) 
(1) 
(2) 

(a)-(iii), (b)-(i), ()-(ü), (d)-(iv) 
(a)-(ii), (b)-), (c)-(iv), (a)-(ii) 
(a)-(), (b)-(iv), ()-(ii), (d)-(i) 

(4) (a)-(iv), (b)-(i), (c)-(ii), (d)-(i) 
(3) 

(1) 

(1) 

(4) 

(3) 

(4) 

(2) 

(4) 

aÈH A 

YAN fafy. 

113. qu 

(1) 
(2) 

T¥H fafuH 

yufHGt? 

P-II IW IN 

(iü) 

Y Fr16 (if) (2) KIIS0RH (3a) (3) 

(iv) 
(ii) fetfeR fafqa HTqt!) 

(2) 

hiTA B 

Y3A 

3-:fh4rHHaIt 
(4) ERAr0 (fatfarfe) 

68 
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(4) aÀ nfa 

IfE? 

(1) 
(2) 4TeIAITA fd faafd #1 

(4) TGfUTE HIHt À fRfd harI 

(1) rrt s 

(3) 

Tfafafu HIUI ? 

(3) T 

(1) 

(4) 

(2) 

(4) 

(2) 
(4) 

(2) 

(4) 

084575 

(4) 

fr�t s qIyi 
sfaif st yfagfgai 

(2) f
TA 

69 ) K 



1. 

3 

Read the passage given below and answer the questions (121-128) that follow : 

IMPORTANT : Candidates should attempt questions from Part-V (O. No. 121-150). if thes. 

have opted for ENGLISH as LÁNGUAGE-II only. 

Chocoholics no longer need to feel guilty about their desire for chocolate. They are simply the 

vietim of the genes, scientists have found. The sp called "sweet-tooth gene" has been identified by 

separate teanns of researchers and helps explain why some find it harder to resist chocolate bars 

and cream cakes. It also raises the possibility of designing a drug which could "switch off" the 

gene and help people resist sugary foods. Children, in particular, risk their health by eating too 

many sweets and chocolates. 

To identify the gene, research teams conducted almost identical experiments using mice which 

have differences in their ability to taste sweet foods. One of the team members said "A Sweet taste 

receptor recognises the sweet content of food and initiates a cascade of events which signals to the 

brain that a sweet food has been eaten." He further added, "The same gene exists in humans, so it 

means that if your parents have a sweet tooth th¹n you probably will as well" 

PART -V 

LANGUAGE - II 

He said, "We have always known that some people have a sweeter tooth than others. But it has 

also been proved that if you are gradually exposed to less sugar, then the body becomes accustomed 

to less. They will be satisfied with a lower level of sweetness. Doctors warn against any form of 

gene therapy which seeks to deactivate the swoetgene. "We have produced this gene through 

evolution because sweet foods in nature are nof poisonous, they give us energy. We all need to 

have some sugar in our diet," claim scientists. US esearchers are using this discovery to develop 

artificial sweeteners without any after-taste. 

121. Having a sweet tooth means: 

(1) 
2 

(3) buying sweet food items from shops 

(2 

teeth being sweet to taste 

(4) being fond of sweets and chocolates 

(3) 

ENGLISH 

(4) 

teeth becoming decayed due to sugary food items 

122. Doctors are not in favour of gene therapy because 

(1) People will feel guilty after going through it 
It will enhance sugar levels in the body 
Sweet foods give energy to the body. 
It is poisonous. 

M 

qg084575 
K 



123. According to doctors, Sweet foods are 

(1) 
(3) dangerous 

(1) 

(3) 

(4) 

04. The phrase .. nitates a cascade of events, means : 

(a) 

(b) 

(c) 

(1) 

poisonous 

125. Read the statements given below: 

signals given to the brain 

~) 

to start a series of occurrences 

(2) 

to put a stop to orderly events 

to halt and hinder sequential events 

(2) (a), (b) and (c) are all incorrect 

(4) 

126. 'Chocoholics' are people : 

Doctors have favoured gene therapy to control sweet gene. 

3 (a) and (c) are incorrect, (b) is correct 
(4) (a) and (b) are incorrect, (c) is correct 

A sweet taste receptor recognizes the amount of sweetness in food. 
Heredity factors have absolutely no role to play in inheriting the sweet gene. 
(b) and (c) are incorrect, (a) is correct 

who are fond of chocolates 

who are makers of chocolates 

(3) who hate chocolates 

2) deactivated genes 

(4) 

(4) who enjoy both chocolates and alcohol 

127. ldentify parts of speech of the underlined words in the given sentence : 

preposition, noun 
"Doctors warn against any form of gene therapy which seeks to deactivate the sweet gene'. 

() preposition, adjective 

60. Complete the given word analogy : 
accustomed : habitual :: initiate:? 

start off 

energy boosters 

(2) hinder 

(2) conjunction, noun 
4t adverb, adjective 

(3) halt 

71 
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Read the passage given below and answer the questions (129-135) that follow : 
Every now and then we would speed through a village lined with waving Tibetan children. Their 
villages kooked wonderful and so inviling, that Dorje was not showing any signs of siowing down, 
Small clusters of single and double storey buildings with walk-in courtyards jostled together in the 
toothills to gain maximum exposure to the sun. The houses looked solid, built for the harsh 
environment. Wals are made up of stone to waist height and finished off with mud bricks to the 
roof Tn cans lined the window ledges, with the bright orange of marigolds in full bloom livening 
up the black-and-white of the houses. 
Bratches of trees adomed with coiourful prayer flags stood high into the wind from the top of the 
flat roots, The auspicious blue, white, red, green and yellow colours of the fabrics sto0d out against 
the tich blue of the Tibetan sky. Each prayer flag, carries a picture of Lungta, the jewelled dragon 
horse, who carries the owner's prayers up to the divine every time the flag flaps in the wind. 
The larger villages have healthy trees, usually willows or poplars which look quite out of place in 
the generally treeless landscape. Wood is a precious commodity in the highland areas of Tibet and 
is never wasted. The few shrubs which grow wild on the hillsides are harvested for use as brushwood 
and each courtyard wall is piled high with sticks gathered from the mountains to get a fire started. 
The lack of solid fuel in the shape of wood is not a problem for the Tibetans, who have an ingenious 
wood substitute : yak dung. 

129. The phrase 'courtyards jostling together implies: 
(1) being one on top of the other 

(3) being very far apart 

(1) Roofs are made of mud bricks. 

(2) 
2 

130. What aspect of Tibetan houses as described in the passage is incorrect ? 

(4) 

(2 

They are solidly built. 

Tin cans line the window ledges. 
Walls are made of mortar and cement. 

(2) 

(4) 

131. Why do the willows and poplars look absurd in the landscape ? 

(3) They are stunted shrubs. 

(1) 

y Because the landscape is generally treeless. 
The other trees camouflage them. 

132. Complete the given word analogy: 

being in close proximity 

precious : valuable: : ingenious:? 
genuine (2) practical 

being in different sizes and dimensions 

(4) They have minimum branches and leaves. 

(3) theoretical 

133. Yak dung is used by the Tibetans as a substitute for : 
wood (1) fire (3) 

72 

buildings (4 

r inventive 

marigolds 

K 



134. Read the following two statements 

Assertion (A) : Wood and sticks are piled high against the courtyard walis in the hou ses 
Reasoning (R) : Wood is found in abundance across Tibet 

(1 

(2) 
(3 
(4 

(1) 

s26 Identify the underlined words in the given sentence 
The lack of solid fuel in the Shape of wood is not a problem for the Tibetans. 

(1) 

(3) 
(4) 

(3 noun, adjective 

(1) 

(a) 

136. India's language in education policy (Three Language Formula) attempts to promote : 

Bilingual education with the focus on Hindi 
Mother-tongue based multilingualism 

(b) 
(c) 
(d) 
(1) 

(A) and (R) are both incorrect 

(A) is correct and (R) is the reason for it. 

137. What is a short story which has animals as the main characters and teaches an explicit moral 

called ? 

(A) is incorrect, but (K) is correct 

(1) 

(A) is correct and (R) is not the reason for it 

(2) 
(3) 

138. Which of the following statements are correct ? 
Dyslexia is a reading disorder. 
Dysgraphia is a writing disorder. 
Dysgraphia is a reading disorder. 
Dyslexia is a writing disorder. 

noun, noun 

(1) 

(3) Only (a) is correct 

Multi language education 
Monolingual education 

(3 

(4) 

Science Fictiop (2 Travelogue 

Both (a) and (b) are correct 

(2) verb, noun 

(4) 

Principle of correlating with life 

139. Rita, a government school teacher, uses visual devices and language games to teach English to 
class VII students. Which principle of teaching is Rita applying ? 

Principle of natural process 

adjective, noun 

(2) 
(4) 

Principle of motivation and interest 

(3) 

(4) Principle of practice and habit formation 

140. What is NOT true about top-down processing ? 

Both (c) and (d) are correct 
Only (b) and (d) are correct 

Listeners make use of the knowledge of the world 
(2) Listeners need to understand every word 

Fantasy 

Listeners rely on their background knowledge 

(4) Fable 

Listeners make guesses about the intended meaning 

73 
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141, Whieli tool is not oal for formative assessnent ? 
() 
3) 

142 Assessment done throughout the teaching-learning process to clarify student lcarnine 
understanding is called 
(1 Assessment .n learning 
(3) Assessment for learning 

Project 

Assignment 

(1) Humanist 

(1) 

143. learners should be exposed to language, and errors are evidence that learning is takine nla 
advocated by 

144. Creativity in language education is 

(3) 

(1) 

(2) Class presentation 

(3) 

classroom activity using new methods of teaching. 

(4) merging elements from different subjects to understand something. 

(2) 

2Y Psychoanalyst (3) Behaviourists (4) Cognitivist 

classroonm malerial using communicative language teaching. 

145. Which is a tool that allows for a number of synchronous and asynchronous online teachie 
opportunities ? 

t Television 

open-ended classroom lasks which allow for different interpretations and answers. 

146. What is NOT true about errors in language learning ? 

(2) Padlet 

(1) 

Assessment as learning 
Assessment of learning 

(1) 21t February 

Errors are crucial aspects of the language learning process. 
(2) Errors help to understand the process of second larnguage acquisition. 

, (4) Errors are not always bad and help in learning. 

to listen, to analyse the ideas 
to hear the lesson on health 

B Informal 

147. In a second language class, a teacher played audio on 'Health is wealth. He then distriuk: 
handouts and asked the students to tick the correct answer from the given option. The objtive 
the lesson was to enable the learner: 

Teaching aid 
Realia 

(2) 

(3) Textbook 

(4) 

148. When is International Mother Language Day celebrated ? 
(2 13th April (3) 1 January 

(2) 
149. ldentify the type of email you would write if you were writing to a colleague who is your e 

(1) Business 

(2) 

to memorise the lesson on health and wealth 

150. Using everyday objects to teach language is called 

(4 

to engage the learners with a task 

Correspondence 
(4) Formal 

(4) Railway ticket 

Text 

Language games 
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121. "f5d' 1 31ef . 

(1) 

(3) 

(1) HRi 4R fsicrî I 

(1) HT 

(3) 

fag 

(1 

(1) frAö 3TUHTAIT iI 

(3) 

(1) 

(2) 

126. Tyf T4À arà ini sfyyrg : 

(2) f4e 

(1) fea 

(1) q ufA 

L 
HTT - V 

HTqT-JI : f 

127. 'frsr'` YH 3q4f'f' 3qefra farv 
(2) 

(2) 

(2 e980 

(3) faqYIaI 3HTA aet i I N4) 

(4) 980845 :8 (2) frö pei át giy à 

(2 
(4) 

(3) 

(3) gra 

(3) 

(3) uf à 

75 

(4) tgfa 

(4) 

(4) 

-II fah 

(4) 
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(3) 

(1) ziia 

(1) a, HG0AR 

132. 'Háifr' 5I 3ú 

P-II 

(1 

(1) 
(3) 

(2) 

135. aia' fy fae t 
(1) 

(2 

(4) 

134. ta 341 urfa fes 3TGRYE? 

(2) 
(4) 

(2) H4TI tA KHIIAIR 

TE1, Mra 0 (3) n, 3Tft 980&57 

(3) T 

(2) Hë+5d (o (3) 4d+3 

4575 
76 

(4) 

(4) 

(4) +afa 

(3) HTI fa 



(1) 

(a) 

(b) 

(c) 

(d) 
(1) (a) 3¦R (b) ri Hà 

(3) 

(1) 
(3) afas sfI FHG 

(1) vfrI 

(1) 

(3) 

(2) 

(1) 

srf� fers 3t6H 

143. "fTffi 1 44% YI4H 

(2) 

(4) 

(2) 

(2 

(3) 

(c) 3r (d) i 

hdt (b) r (d) 4 

(3) 

(4) AfT� HT 3h617 

"(2) -infavequarci (3) ETAI�0 

77 

(4) 

(4) 

(4) 
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(2) 

(1) 2efaa 

(1) far fagi 5 faAU fi I 

(2) 

3) 

148. 31-4 HgHTq feaa 4| II? 
(1) 34AH IAÍ 

(1) 

(3) 

(1) 
(3) 

(2) 3z 

PI 

fa HIU 

(2) 

fuk au�t (îzfu) 

(3) Tzak 

(4) 

980845 

(3) Vai a 

(4) sTvanfrs 

(2) ea HA 

9808 &Ë 

-o ) o -
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